
MULTIPLE CHOICE SINGLE CORRECT ITEM TEMPLATE

Instructions

1.  Column with red header indicates mandatory fields. 

2.  Item Text and Item Image both should not be empty.Fill at least one column details. 

3.  No of option specified in No of Options(2-6) column should match with no of filled option details  

4.  Option text and Option Image both should not be empty .Fill at least one column details. 

5.  Fill Difficulty Level number.

6.  Fill Expiry Date in (dd/mm/yyyy) format. 

7.  For all image columns write the respective image name in the column(for eg. sample.jpg) and keep the same image in given  _SupportedImages folder.

8.  use **text** for bold text.

9.  use *text* for italic text.

10.  use ++text++ for underline text.if underline text to be used in very first word then use '++text++.

11.  use ~~text~~ for put a line through text.

12.  use ~text~ for subscript text.

13.  use ^text^ for superscript text.

Input Language English

Item Bank ID 13872 Item Bank 
Name LOGIC-II

Difficulty Level 
(Low-1,Medium-2,

High -3)
Author No. of 

Options(2-6) Item Text

2 4 Syllogism is an inference of the type
2 4 Non formal fallacy committed due to use of wrong authority is
1 4 A temporary solution given to a problem is
1 4 A term occurring in the major premise & in the conclusion of a syllogism is
1 4 Mood 'DARII' occurs in the figure
2 4 Belief in ' maniness of cause' is called as

2 4
Which fallacy is committed in the following example? If the assembly has 

voted in favour of the bill, then the MLA of my constituency must also have 
been in favour of the bill.

2 4 The terms that occur in minor premise are

2 4 A hypothesis given for a temporary period is



2 4 M' in the name of the mood of a syllogism stands for

2 4 ln which figure of categorical syllogism is the middle term in the position of subject 
in both the premises

2 4 In Modus Tollendo Ponens

2 4 An activist who saved river Franklin from getting polluted is

3 4 A hypothesis given for a temporary period

2 4 A group of necessary condition is

3 4 When a term has two meanings in a syllogism, it commits the fallacy of

2 4 ' Why did you stop telling lies' is a fallacy of 

3 4 For the creation of fire, carbon dioxide becomes 

2 4 'Vis major' means

3 4 'Reverse discrimination' is a policy to provide justice to
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Option Text 1 Option Text 2 Option Text 3 Option Text 4 Correct Option

inductive immediate mediate direct 3
argumentum ad vercundiam  composition   division      figure of speech 1

cause analogy hypothesis cessary condition 3
middle term minor term major term singular term 3

I II III IV 1
hypothesis analogy simple enumeration plurality of cause 4

Composition accent figure of speech division 4

middle term & major term middle term & minor term major term & minor term
minor term & singular 

term
2

descriptive analogical working ad hoc 3



transposition converse obverse contrapositive 1

I II III IV 3

alternative is denied alternative is affirmed alternative is always true
alternative is never 

true
1

Thomas Generalli Joan Andrews John Mill Bob Brown 4

descriptive analogical working ad hoc 3

positive condition negative conditioning sufficient condition accidental condition 3

accident division equivocation false cause 3

many cause false cause accent figure of speech 1

negative condition positive condition sufficient condition simple condition 1

act of criminal act of a lawyer act of God act of client 3

poor uneducated minority deprived classes 4


